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What is token? How many types of tokens are used

in ‘c’ language. Explain in detail.

cIpd T 27 dl 9reT # fhdd YR & <ldd
&1 SUAT foar wirar 2, faar 9@ aaren
N |

fhk
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Time : 3Hrs. Sem. 111
C.PT‘C

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & wft ufg weal @ SR <, UAS U BT 99 6 AF 3 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (31214T) (ii)

If ages of Ram, Shyam and Ajay are input through
the keyboard. Write a program to determine the

youngest of the three.

(iii)
IR M, T AR 36 B AP Ddls D

qregd | 39T P U B, d Al 3 e b
Sy fraiRa o @ fav e g ford |

9. Iflengths of three, sides of a triangle are input (i)
through the keyboard, write a program to find the
area of the triangle.
6
Ife B & 9 PR deis © areaq 9
gYc @ g © dl, BS &1 d3ahd Fares
& fay @ ™ fod | )
v

OR (312141)

What is an array ? Write an algorithm to search an
element from an array.

3 1600302

frfaRaa & 9 ®19 ¢ w91 ¥ P9
T8l ®:

(31) Getchar

(@) Int

(&) Void

(]) Volatile

Which header file is designed for basic
mathematical operations ?

(a) Stdio.h

(b) Dos.h

(c) Math.h

(d) Conio.h

DI A1 B Bigd o TONT S &
fore feomgs far am 872

(31) Stdio.h

(9) Dos.h

(&) Math.h

(=) Conio.h

What is the symbol used for conditional
operator?

(a)==

(b) /

(c)?=

(d)?:
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GROUPC (vi)

Answer all Five Questions.

ol uig gl & SR o

6x5=30

7. Write a ‘C’ program to find the value of Y using
y(x,n)=1+x, when n=1
1+x/n, when n=2 (vii)
1+x", when n=3
1+nX, when n>3 or n<l1 6

(By the help of nested if )

Y &1 94 9 1 & fag @ grum foe— (vii)
y(x,n)=1+x, when n=1

1+x/n, when n=2

1+x", when n=3

1+n*, when n>3 or n<l1

(s '3% B AgE W) (viii)

OR(312141)

Write a ‘C’ programs to print the following outputs

5 1600302

TFad ... STl YR & dRued @l

(\) fsRafeR
() 39 9 BIg T8

The.......... statement causes the loop to be
terminated.

(a) Continue

(b) Default

(c) Break

(d) Exit

........... TTHTH U &l JATK HIA DI
PIROT gdT :—

(31) wfey

(@) fSwice

SIEKZ

(1) wfivie

Which of the following is false in C

(a) Variables name do not contain a blank
space.

(b) Keywords can be used as variable names

(c) Capital letters can be used in variable
name

(d) Variable names can contain a digit.
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M A R T B? TR Y JHifvd @t
ST 87

OR (3121a1)

What is pointer ? How a pointer variable is declared

and initialize ?

Uige}y T 22 U Ulsex dRued @9 =nifdd
foar sirar 2 3k &9 Yo sidar @ ?

Define the function with suitable examples.
4
ISR ISBRUT B A1 BIRM S IRHATNT

N |
OR (3121a1)

What is Call by Value and Call by Reference?
Explain with suitable example.

Pid 919 Y 3NN Bidl 919 IH¥E FT 27
IUYd IGERUT S A1 FHASZY |

NT3003

x)

(xi)

(xi)

(xii)

7 1600302

fody afadft 3 ¢ wrarfiT & afa &2
(31) 1SO

(3) TRAI

(W) ANSI

() wac

Which of the following cannot be checked
in a switch case statement ?

(a) Float

(b) Integer

(c¢) Character

(d) None of the above

Rag—o9 Rede ¥ f=fafaa & 4
foeht ita 1 @1 o Gl 2

(31) Float

(9) Integer

(®) Character

(@) ¥ @ oI T

Which one of the following is a bitwise
operator ?

(a) ==

(b) =

(c) <

(d) <<
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(xx)  P++ Bl TS BT WTdl 8:—
(@) fefwae
(@) uixe fsfepdc
(W) uie swHc
(]) 4T s

GROUPB

Answer all Five Questions.

i uig g & SR ©

2.

4x5=20

Define an algorithm. Write an algorithm to convert

the temperature fahrenheit to celcius.
4

TRed & gRUTT HR | IrIHT BREIST
Bl Afeqad ¥ 9gaq @ foIv ve uaniRen
foreg |

NT3003

9 1600302

xiv) fFr=ifafaa 4 4 @19 ofa 918 3 &1

(xv)

(xv)

(xvi)

JETENT B

(31) Num (*a, *b)

(€) Num (a,b)

(|) Num (&a, &b)

(%) 9 & dIs T8l

Which is syntax of for loop?

(a) for (initialization; condition; increment/
decrement)

(b) for (increment; expression; condition)

(c) for (condition; expression; statement)

(d) for (expression; condition; statement)

BR qu & forg <9 ar RKidaww 2

(1) for (sNRTATSSITH; HIeH;
soc /fsfpde)

@) for (SHIHT; TFAUI; LCTHT)

() for (HSI; TFAYTH; IETHC)

() for (TFAUT; HSIH; TTHT)

How many elements can be store in the array
A[35]7?

(a) 36

(b) 37

(c) 35

(d) 34
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